Vol.4.Issue.1.2016 (January-March)



http://www.bomsr.com Email:editorbomsr@gmail.com

RESEARCH ARTICLE

BULLETIN OF MATHEMATICS AND STATISTICS RESEARCH

A Peer Reviewed International Research Journal



CLASSES OF VAGUE FILTERS IN RESIDUATED LATTICES

K.REENA, I. AROCKIARANI

Department of Mathematics, Nirmala College for women, Coimbatore, India E-mail: reenamaths1@gmail.com



ABSTRACT

In this paper we further develop the theory of vague filters of a residuated lattice. We introduce and investigate implicative vague filters, positive implicative vague filters, fantastic vague filters, strong vague filter, n-contractive vague filter, divisible vague filter of a residuated lattice and describe their mutual connections.

Key words: non-classical logic, vague filter, Transfer principle, Boolean vague filter.

©KY PUBLICATIONS

1.INTRODUCTION

The concept of fuzzy set was introduced by Zadeh (1965) [19]. Since then this idea has been applied to other algebraic structures. Since the fuzzy set is single function, it cannot express the evidence of supporting and opposing. Hence the concept of vague set [6] is introduced in 1993 by W.L.Gau and Buehrer. D.J. In a vague set A, there are two membership functions: a truth membership function t_A and a false membership function f_A , where t_A and f_A are lower bound of the grade of membership respectively and $t_A(\mathbf{x}) + f_A(\mathbf{x}) \leq 1$. Thus the grade of membership in a vague set A is a subinterval $[t_A(\mathbf{x}), 1-f_A(\mathbf{x})]$ of [0, 1]. Vague sets is an extension of fuzzy sets. The idea of vague sets is that the membership of every elements which can be divided into two aspects including supporting and opposing. With the development of vague set theory, some structure of algebras corresponding to vague set have been studied. R.Biswas [3] initiated the study of vague algebras by studying vague groups. T.Eswarlal [5] study the vague ideals and normal vague ideals in semirings. H.Hkam , etc [13] study the vague relations and its properties. In this paper we introduce implicative vague filters, positive implicative vague filters, Boolean vague filters and fantastic vague filter, strong vague filter, n-contractive vague filter, divisible vague filter of a residuated lattice and analyse their properties.

2.Preliminaries

Definition 2.1: [17]

A residuated lattice is an algebraic structure L = (L, \lor , \land , *, \rightarrow , 0, 1) satisfying the following axioms:

- 1. (L, \lor , \land , 0, 1) is a bounded lattice
- 2. (L, *, 1) is a commutative monoid .
- 3. (*, 1) is an adjoint pair, i.e., for any x, y, z, $w \in L$,

i. if $x \le y$ and $z \le w$, then $x * z \le y * w$.

- ii. if $x \le y$ and $y \rightarrow z \le x \rightarrow z$ then $z \rightarrow x \le z \rightarrow y$.
- iii. (adjointness condition) $x * y \le z$ if and only if $x \le y \rightarrow z$.

In this paper, denote L as residuation lattice unless otherwise specified.

Theorem 2.2: [17]

In each residuated lattice L, the following properties hold for all x, y, $z \in L$:

- 1. $(x * y) \rightarrow z = x \rightarrow (y \rightarrow z)$.
- 2. $z \le x \rightarrow y \Leftrightarrow z * x \le y$.
- 3. $x \leq y \Leftrightarrow z * x \leq z * y$.
- 4. $x \rightarrow (y \rightarrow z) = y \rightarrow (x \rightarrow z)$.
- 5. $x \le y \Longrightarrow z \to x \le z \to y$.
- 6. $x \le y \Longrightarrow y \rightarrow z \le x \rightarrow z, y' \le x'$.
- 7. $y \rightarrow z \le (x \rightarrow y) \rightarrow (x \rightarrow z)$.
- 8. $y \rightarrow x \leq (x \rightarrow z) \rightarrow (y \rightarrow z)$.
- 9. $1 \rightarrow x = x, x \rightarrow x = 1$.
- 10. $x^m \leq x^n$, m, $n \in N$, $m \geq n$.
- 11. $x \leq y \Leftrightarrow x \rightarrow y = 1$.
- 12. $0' = 1, 1' = 0, x' = x^m, x \le x^n$.
- 13. $x \lor y \rightarrow z = (x \rightarrow z) \land (y \rightarrow z)$.
- 14. x * x' = 0.

15.
$$x \rightarrow (y \land z) = (x \rightarrow y) \land (x \rightarrow z)$$

Lemma 2.3: [20]

- 1. $y \le x \rightarrow y$
- 2. $x * y \le x * (x \rightarrow y) \le x \land y \le x \land (x \rightarrow y) \le x$
- 3. $y \leq x \rightarrow (x * y)$
- 4. $(x \rightarrow y) \rightarrow z \le x \rightarrow (y \rightarrow z)$
- 5. $(x \rightarrow y) * (y \rightarrow z) \le x \rightarrow z$ (transitivity of \rightarrow)
- 6. $y_1 \le y_2, x_1 \le x_2$ imply 1. $x \rightarrow y_1 \le x \rightarrow y_2$ (isotonicity of the second variable of \rightarrow) 2. $x_2 \rightarrow y \le x_1 \rightarrow y$ (antitonicity of the first variable of \rightarrow)
- 7. $x \rightarrow (y \rightarrow z) = y \rightarrow (x \rightarrow z) = (x * y) \rightarrow z$ (Exchange rule)
- 8. $(y \lor z) * x = (y * x) \lor (z * x)$
- 9. $(y \lor z) \rightarrow x = (y \rightarrow x) \land (z \rightarrow x)$, in particular, $(y \lor z) \rightarrow y = z \rightarrow y$
- 10. $x \rightarrow (y \land z) = (x \rightarrow y) \land (x \rightarrow z)$, in particular, $y \rightarrow (y \land z) = y \rightarrow z$
- 11. $x \rightarrow (y \lor z) \ge (x \rightarrow y) \lor (x \rightarrow z)$
- 12. $(y \land z) \rightarrow x \ge (y \rightarrow x) \lor (z \rightarrow x)$
- 13. $(y \rightarrow x) * [(x \land y) \rightarrow z] \le [y \rightarrow (x \land y)] \land (y \rightarrow z)$
- 14. $(x \rightarrow y) * (z \rightarrow w) \leq (x \lor z) \rightarrow (y \lor w)$
- 15. $(x \rightarrow y) * (z \rightarrow w) \leq (x \land z) \rightarrow (y \land w)$
- 16. $(x \rightarrow y) * (z \rightarrow w) \leq (x * z) \rightarrow (y * w)$, in particular, $x \rightarrow y \leq (x * z) \rightarrow (y * z)$
- 17. $(y \rightarrow x) * (z \rightarrow w) \le (x \rightarrow z) \rightarrow (y \rightarrow w)$, in particular, $x \le \sim x$, $x \le (x \rightarrow y) \rightarrow y$ and $y \rightarrow x \le \sim x \rightarrow \sim y$

18. $\sim\sim (x \to \sim\sim y) = x \to \sim\sim y = \sim\sim x \to \sim\sim y$ 19. $\sim\sim x \to \sim\sim y \ge \sim\sim (x \to y)$ 20. $[(x \to y) \to y] \to y = x \to y$ 21. $x \lor y \le (x \to y) \to y$.

Definition 2.3: [20]

A non-empty subset F of a residuated lattice L is called a filter of L if it satisfies

- 1. $x, y \in F \Longrightarrow x * y \in F$.
- $2. \quad x \in F, x \leq y \Longrightarrow y \in F.$

Theorem 2:4: [20]

A non-empty subset F of a residuated lattice L is called a filter of L if it satisfies, for any $x,y \in L$,

 $1. \quad 1 \in F.$

2. $x \in F, x \rightarrow y \in F \Rightarrow y \in F$.

Note 2.5: [20]

A fuzzy set A on a residuated lattice L is a mapping from L' to [0, 1]

Definition 2.6: [20]

A fuzzy set A of a residuated lattice L is called a fuzzy filter, if it satisfies, for any x, $y \in L$

- $1. \quad A(1) \geq A(x).$
- 2. $A(x * y) \ge min\{A(x), A(y)\}.$

Theorem 2.7: [20]

A fuzzy set A of a residuated lattice L is a fuzzy filter, if and only if it satisfies, for any x, $y \in L$,

- $1. \quad A(1) \geq A(x).$
- 2. $A(y) \ge \min\{A(x \rightarrow y), A(x)\}$

Definition 2.8:[20]

On any residuated lattice L let us define a unary operation negation ~ by $x^{\sim} = x \rightarrow 0$ for any $x \in L$. Definition 2.9:[20]

A residuated Lattice L is called

1.BL-algebra if and only if M satisfies the identity of pre-linearity $(x \rightarrow y) \lor (y \rightarrow x) = 1$.

2.MV-algebra if and only if M fulfils the double negation law $x^{\sim} = x$.

3. Heyting algebra if and only if the operations * is idempotent.

Definition 2.10: [6]

A Vague set A in the universe of discourse S is a Pair (t_A, f_A) where $t_A : S \rightarrow [0,1]$ and $f_A : S \rightarrow [0,1]$ are mappings (called truth membership function and false membership function respectively) where $t_A(x)$ is a lower bound of the grade of membership of x derived from the evidence for x and $f_A(x)$ is a lower bound on the negation of x derived from the evidence against x and $t_A(x) + f_A(x) \le 1 \forall x \in S$.

3.Vague filters of a Residuated Lattice

Definition 3.1:

A vague set V in a Residuated Lattice L is called a vague filter of L if any x, $y \in L$ satisfy

- 1. $V(x * y) \ge V(x) \land V(y)$
- 2. $x \le y \Longrightarrow V(x) \le V(y)$
- 3. $V(1) \ge V(x)$ for every $x \in L$.

Lemma 3.2:

Let V be a vague filter of L. Then for any $x, y \in L$ we have

- 1. $V(x \lor y) \ge V(x) \land V(y)$
- 2. $V(x \land y) = V(x) \land V(y)$
- 3. $V(x * y) = V(x) \land V(y)$.

Proof:

For any x, $y \in L$ we have x * $y \leq x \land y \leq x \lor y$. Then from Definition 3.1 we have V(x $\lor y$) $\geq V(x * y) \geq V(x) \land V(y)$. Since x * $y \leq x \land y \leq x$, y, it follows by definition 3.1 that V(x) $\land V(y) \leq V(x * y) \leq V(x \land y) \leq V(x \land V(y)$.

Proposition 3.3:

A vague set V in a Lattice L is a vague filter of L if and only if it satisfies Definition 3.1(1) and V(x \lor y) \ge V(x) for any x, y \in L.

Proof:

If V is a vague filter of a Lattice L then $x \le x \lor y$ implies $V(x) \le V(x \lor y)$. Conversely, if V satisfies Definition 3.1(1) and $V(x \lor y) \ge V(x)$ for any $x, y \in L$ and $x \le y$, then $V(y) = V(x \lor y) \ge V(x)$. Hence V is a vague filter of L.

Theorem 3.4:

Let V be a vague set in a Lattice L. Then the following conditions are equivalent.

- 1. V is a vague filter of L.
- 2. V satisfies V(1) \ge V(x) and for all x, y \in L, V(y) \ge V(x) \land V(x \rightarrow y).

Proof:

(1) \Rightarrow (2): Let V be a vague filter of L and let x, y \in L. Then by Lemma 3.2(3), V(y) \ge V(x \land y) = V((x \rightarrow y) * x) = V(x \rightarrow y) \land V(x). Hence V satisfies the condition (2).

(2) \Rightarrow (1): Let V be a vague set in L satisfying (2). Let x, $y \in L$, $x \leq y$. Then $x \rightarrow y = 1$. Thus V(y) \geq V(x) \land V(1) = V(x), hence Definition 3.1(2) holds. Further, since $x \leq y \rightarrow (x * y)$, by (2) and Definition 3.1(2) we get V(x * y) \geq V(y) \land V(y \rightarrow (x * y)) \geq V(y) \land V(x). Therefore Definition 3.1(1) is also satisfied and hence V is a vague filter of L.

Definition 3.5:

For every subset V of L, we define a formula P_V defined by

 $P_V: \forall x, \forall y (\forall (u_1(x,y)) \land \forall (u_2(x,y)) \land \dots \land \forall (u_n(x,y))) \leq \forall (u_n(x,y))).$

Definition 3.6:

For every subset V of L, we call V a vague P-set if it satisfies the formula P_V .

Definition 3.7: Transfer Principle: A vague set V defined in a (general) algebra A has a property P (or A is a vague P-set) if and only if all non-empty level subsets U(t, α) and L(1-f, β) have the property P. **4. Positive Implicative and Boolean Vague Filters**

Definition 4.1:

A vague set V in a Lattice L is called an implicative vague filter of L if for any x, y, z \in L

1. $V(1) \ge V(x)$

 $2. \quad V(x \to (y \to z)) \land V(x \to y) \leq V(x \to z).$

Proposition 4.2:

Every implicative vague filter of a Lattice L is a vague filter of L.

Proof:

Let V be an implicative vague filter of L. Let $\alpha \in [0, 1]$ be such that $U(t, \alpha) \neq \Phi$. Then for any $x \in U(t, \alpha)$ we have $t(1) \ge t(x)$, thus $1 \in U(t, \alpha)$. Also let $\beta \in [0, 1]$ such that $L(1-f, \beta) \neq \Phi$. Then for any $x \in L(1-f, \beta)$ we have $1-f(1) \ge 1-f(x)$, thus $1 \in L(1-f, \beta)$ Let $x, x \to y \in U(t, \alpha)$, i.e. $t(x), t(x \to y) \ge \alpha$. Then $t(1 \to x), t(1 \to (x \to y)) \ge \alpha$, hence $t(1 \to (x \to y)) \land t(1 \to x) \ge \alpha$, thus by Definition 4.1(2), $t(1 \to y) \ge \alpha$. That means $t(y) \ge \alpha$, and therefore $y \in U(t, \alpha)$. Similarly we can prove $1-f(y) \ge \beta$ implies $y \in L(1-f, \beta)$. Hence V is a vague filter of L.

Theorem 4.3:

Let F be a vague filter of a Lattice L. Then the following conditions are equivalent.

- 1. V_F is an implicative vague filter of L.
- 2. V_F (y \rightarrow (y \rightarrow x)) \leq V_F (y \rightarrow x) for any x, y \in L
- 3. $V_F(z \rightarrow (y \rightarrow x)) \le V_F((z \rightarrow y) \rightarrow (z \rightarrow x))$ for any $x, y \in L$
- 4. $V_F(z \rightarrow (y \rightarrow (y \rightarrow x))) \land V_F(z) \le V_F(y \rightarrow x)$ for any $x, y \in L$
- 5. $V_F(\mathbf{x} \rightarrow (\mathbf{x} \ast \mathbf{x})) = V_F(1)$.

Proof: It follows from Definitions.

Definition 4.4:

A vague set V in a Lattice L is called a positive implicative vague filter of L if for any x,y,z \in L,

1. $V(1) \ge V(x)$

2. $V(x \rightarrow ((y \rightarrow z) \rightarrow y)) \land V(x) \le V(y)$

Proposition 4.5:

Every positive implicative vague filter of a Lattice L is a vague filter of L.

Proof:

Let V be a positive implicative vague filter of L, α , $\beta \in [0, 1]$ and U(t, α) $\neq \Phi$, L(1-f, β) $\neq \Phi$. Then $1 \in U(t, \alpha)$ and $1 \in L(1-f, \beta)$. Further, let x, $x \to y \in U(t, \alpha)$. i.e.,t(x), $t(x \to y) \ge \alpha$ and 1-f(x), 1-f($x \to y$) $\ge \beta$. Then $t(x \to ((y \to 1) \to y)) = t(x \to (1 \to y)) = t(x \to y)$, 1-f($x \to ((y \to 1) \to y)) = 1$ -f($x \to ((y \to 1) \to y)) = 1$ -f($x \to ((y \to 1) \to y) \land t(x) \ge \alpha$ and 1-f($x \to ((y \to 1) \to y) \land 1$ -f($x \ge \beta$ and thus by Definition 4.4 we have t(y) $\ge \alpha$ and 1-f(y) $\ge \beta$. Therefore $y \in U(t, \alpha)$ and $y \in L(1-f, \beta)$. Hence V is a vague filter of L.

Theorem 4.6:

A vague filter F of a lattice L is positive implicative if and only if V_F is a positive implicative vague filter of L.

Proof:

Let F be a vague filter of L. Let us suppose that F is positive implicative. Let $t_F(x \rightarrow ((y \rightarrow z) \rightarrow y)) \land t_F(x) = \alpha$ and $1 - f_F(x \rightarrow ((y \rightarrow z) \rightarrow y)) \land 1 - f_F(x) = \beta$. Then $t_F(x \rightarrow ((y \rightarrow z) \rightarrow y)) = \alpha = t_F(x)$, and $1 - f_F(x \rightarrow ((y \rightarrow z) \rightarrow y)) = \beta = 1 - f_F(x)$, thus $x \rightarrow ((y \rightarrow z) \rightarrow y)$, $x \in F$, and hence $y \in F$, that means $t_F(y) = \alpha$ and $1 - f_F(y) = \beta$. Therefore we get that V_F is positive implicative vague filter of L. Conversely, let V_F be a positive implicative vague filter of L. Let $x \rightarrow ((y \rightarrow z) \rightarrow y) \in F$ and $x \in F$. Then $t_F(x \rightarrow ((y \rightarrow z) \rightarrow y)) = \alpha = t_F(x)$, $1 - f_F(x \rightarrow ((y \rightarrow z) \rightarrow y)) = \beta = 1 - f_F(x)$, hence $t_F(y) = \alpha$ and $1 - f_F(y) = \beta$ and so $y \in F$. That means F is a positive implicative filter of L.

Theorem 4.7:

Let F be a vague filter of a lattice L. Then the following conditions are equivalent.

- 1. V_F is a positive implicative vague filter of L.
- 2. $V_F((x \rightarrow y) \rightarrow x) \leq V_F(x)$ for any $x, y \in L$.
- 3. $V_F((x^{\sim} \rightarrow x) \rightarrow x) = V_F(1)$.

Proof:

Analogous to that for Theorem 4.3.

Theorem 4.8:

Let V be a vague filter of a lattice L. Then V is a positive implicative vague filter of L if and only if all non-empty level subsets are positive implicative filter of L for every α , $\beta \in [0, 1]$ such that U(t, α) $\neq \Phi$ and L(1-f, β) $\neq \Phi$.

Proof:

Let us suppose that V is a vague filter of L. Let V be positive implicative, $\alpha, \beta \in [0,1]$, U(t, $\alpha) \neq \Phi$ and L(1-f, β) $\neq \Phi$, x, y, z \in L, x \rightarrow ((y \rightarrow z) \rightarrow y) \in U(t, α) and x \rightarrow ((y \rightarrow z) \rightarrow y) \in L(1-f, β), x \in U(t, α) and x \in L(1-f, β). Then t(x \rightarrow ((y \rightarrow z) \rightarrow y)), t(x) $\geq \alpha$ and 1-f(x \rightarrow ((y \rightarrow z) \rightarrow y)), 1-f(x) $\geq \beta$. Hence t(x

 $\rightarrow ((y \rightarrow z) \rightarrow y)) \land t(x) \ge \alpha.$ Since $t(y) \ge t(x \rightarrow ((y \rightarrow z) \rightarrow y)) \land t(x)$ and $1 - f(y) \ge 1 - f(x \rightarrow ((y \rightarrow z) \rightarrow y)) \land 1 - f(x)$ we get $y \in U(t, \alpha)$ and $y \in L(1 - f, \beta)$. Therefore $U(t, \alpha)$ and $L(1 - f, \beta)$ are positive implicative filter for any $\alpha, \beta \in [0, 1]$ such that $U(t, \alpha) \ne \Phi$ and $L(1 - f, \beta) \ne \Phi$. If $x, y, z \in L$, then $x \rightarrow ((y \rightarrow z) \rightarrow y), x \in U(t, (x \rightarrow ((y \rightarrow z) \rightarrow y)) \land x))$ and $x \in L(1 - f, (x \rightarrow ((y \rightarrow z) \rightarrow y)) \land x)) \land x)$ and $x \in L(1 - f, (x \rightarrow ((y \rightarrow z) \rightarrow y)) \land x))$ hence $V(y) \ge V((x \rightarrow ((y \rightarrow z) \rightarrow y)) \land x) = V(x \rightarrow ((y \rightarrow z) \rightarrow y))) \land V(x)$. That means V is a positive implicative vague filter.

Theorem 4.9:

Every positive implicative vague filter of a lattice L is implicative.

Proof:

Let V be a positive implicative vague filter of L. Then by Theorem 4.8, if $\alpha, \beta \in [0, 1]$ is such that U(t, α) $\neq \Phi$ and L(1-f, β) $\neq \Phi$ then U(t, α) and L(1-f, β) are positive implicative filters of L. Hence U(t, α) and L(1-f, β) are implicative filters of L. Therefore V is an implicative vague filter of L.

Definition 4.10:

A vague filter V of a lattice L is called a Boolean vague filter of L, if for any $x \in L$, $V(x \lor x^{\sim}) = V(1)$

Theorem 4.11:

A filter F of a lattice L is Boolean if and only if V_F is Boolean vague filter of L.

Proof:

Let F be a Boolean filter of L and let $x \in L$. Then $V_F(x \lor x^{\sim}) = V_F(1)$, hence V_F is Boolean vague filter of L. Conversely, let V_F be a Boolean vague filter of L and let $x \in F$.

Then $V_F(\mathbf{x} \lor \mathbf{x}^{\sim}) = V_F(1) = \alpha$, then $\mathbf{x} \lor \mathbf{x}^{\sim} \in F$, that means F is Boolean filter of L.

Definition 4.12:

A vague subset V in a lattice L is called a fantastic vague filter of L if for any x, y, $z \in L$,

1. $V(1) \ge V(x)$

2.
$$V(z \rightarrow (y \rightarrow x)) \land V(z) \leq V(((x \rightarrow y) \rightarrow y) \rightarrow x).$$

Proposition 4.13:

Every fantastic vague filter of a lattice L is a vague filter of L.

Proof:

Let V be a fantastic vague filter of L. Let α , $\beta \in [0, 1]$, $U(t, \alpha) \neq \Phi$ and $L(1-f, \beta) \neq \Phi$. Then $1 \in U(t, \alpha)$ and $1 \in L(1-f, \beta)$. Let $x, x \rightarrow y \in U(t, \alpha)$ and $L(1-f, \beta)$, i.e., $t(x), t(x \rightarrow y) \geq \alpha$, $1-f(x), 1-f(x \rightarrow y) \geq \beta$. Then $t(x \rightarrow (1 \rightarrow y)) = t(x \rightarrow y) \geq \alpha$, $1-f(x \rightarrow (1 \rightarrow y)) = 1-f(x \rightarrow y) \geq \beta$. Hence $t(x \rightarrow (1 \rightarrow y)) \wedge t(x) \geq \beta$, thus by Definition 4.12 we have $t(y) = t(1 \rightarrow y) = t(((y \rightarrow 1) \rightarrow 1) \rightarrow y) \geq t(x \rightarrow (1 \rightarrow y)) \wedge t(x) \geq \alpha$, $1-f(y) = 1-f(1 \rightarrow y) = 1-f(((y \rightarrow 1) \rightarrow 1) \rightarrow y) \geq 1-f(x \rightarrow (1 \rightarrow y)) \wedge 1-f(x) \geq \beta$, and so $y \in U(t, \alpha)$ and $y \in L(1-f, \beta)$. Therefore V is a vague filter of L.

Theorem 4.14:

A vague filter F of a lattice L is fantastic if and only if V_F is a fantastic vague filter of L.

Proof:

Let F be a vague filter of L. Let us suppose that F is fantastic. Let $t_F(z \rightarrow (y \rightarrow x)) \wedge t_F(z) = \alpha$ and $1 - f_F(z \rightarrow (y \rightarrow x)) \wedge 1 - f_F(z) = \beta$. Then $t_F(z \rightarrow (y \rightarrow x)) = \alpha = t_F(z)$ and $1 - f_F(z \rightarrow (y \rightarrow x)) = \beta = 1 - f_F(z)$, thus $z \rightarrow (y \rightarrow x) \in F$, $z \in F$, and hence $((x \rightarrow y) \rightarrow y) \rightarrow x \in F$, that means $t(((x \rightarrow y) \rightarrow y) \rightarrow x) = \alpha$ and $1 - f(((x \rightarrow y) \rightarrow y) \rightarrow x) = \beta$. Therefore we get V_F is a fantastic vague filter of L. Conversely, let V_F be a fantastic vague filter of L. Let $z \rightarrow (y \rightarrow x) \in F$ and $z \in F$. Then $t_F(z \rightarrow (y \rightarrow x)) = \alpha = t_F(z)$, $1 - f_F(z \rightarrow (y \rightarrow x)) = \beta = 1 - f_F(z)$, hence

 t_F (((x \rightarrow y) \rightarrow y) \rightarrow x) = α , 1- f_F (((x \rightarrow y) \rightarrow y) \rightarrow x) = β and therefore ((x \rightarrow y) \rightarrow y) \rightarrow x \in F That means, F is a fantastic filter of L.

Theorem 4.15:

Every positive implicative vague filter of a lattice L is fantastic.

Proof:

If V is a positive implicative vague filter of L, then U(t, α) and L(1-f, β) are positive implicative filter of L for every U(t, α) $\neq \Phi$ and L(1-f, β) $\neq \Phi$. Hence U(t, α) and L(1-f, β) are fantastic filter of L, and hence, by Theorem 4.14, V is fantastic filter of L.

5.New subclasses of vague filters

Definition 5.1:

Let F be a vague filter of L. Then it is called a divisible vague filter if for all x, $y \in L$,

 $V_F((\mathbf{x} \wedge \mathbf{y}) \rightarrow [\mathbf{x}^* (\mathbf{x} \rightarrow \mathbf{y})]) = V_F(\mathbf{1}).$

Theorem 5.2:

Let F be a vague filter of L. Then the following assertions are equivalent for all x, y, $z \in L$:

- 1. V_F is a divisible vague filter.
- 2. $V_F([x \rightarrow (y \land z)] \rightarrow \{(x \rightarrow y) * [(x \land y) \rightarrow z]\}) = V_F(1).$

Proof:

Assume that V_F is a divisible vague filter. Then we have $V_F([(x \rightarrow y) \land (x \rightarrow z)] \rightarrow \{(x \rightarrow y) * [(x \rightarrow y) \land (x \rightarrow z)]\}) = V_F([x \rightarrow (y \land z)] \rightarrow \{(x \rightarrow y) * \{[x^* (x \rightarrow y) \rightarrow z]\}\}$ and hence

 $\begin{array}{l} V_F([\mathsf{x} \to (\mathsf{y} \land \mathsf{z})] \to \{(\mathsf{x} \to \mathsf{y})^* \{ [\mathsf{x}^* (\mathsf{x} \to \mathsf{y}) \to \mathsf{z}] \} = V_F(\mathsf{1}). \text{ Therefore } V_F((\mathsf{x} \land \mathsf{y}) \to [\mathsf{x}^* (\mathsf{x} \to \mathsf{y})]) \leq V_F[\{ [\mathsf{x}^* (\mathsf{x} \to \mathsf{y})] \to \mathsf{z} \} \to [(\mathsf{x} \land \mathsf{y}) \to \mathsf{z}] \} \to \{ (\mathsf{x} \to \mathsf{y})^* \} \\ \to \mathsf{z} \} \text{ and hence } V_F[\{ (\mathsf{x} \to \mathsf{y})^* \{ [\mathsf{x}^* (\mathsf{x} \to \mathsf{y})] \to \mathsf{z} \} \} \to \{ (\mathsf{x} \to \mathsf{y})^* \{ [\mathsf{x}^* (\mathsf{x} \to \mathsf{y})] \to \mathsf{z} \} \} \\ \to \{ (\mathsf{x} \to \mathsf{y})^* \{ [\mathsf{x}^* (\mathsf{x} \to \mathsf{y})] \to \mathsf{z} \} \} \to \{ (\mathsf{x} \to \mathsf{y})^* \{ [\mathsf{x}^* (\mathsf{x} \to \mathsf{y})] \to \mathsf{z} \} \} \\ \text{ transitivity of } \to \mathsf{, we have } V_F([\mathsf{x} \to (\mathsf{y} \land \mathsf{z})] \to \{ (\mathsf{x} \to \mathsf{y})^* \{ [\mathsf{x} \land \mathsf{y} \to \mathsf{z}] \} \} = V_F(\mathsf{1}). \end{array}$

Definition 5.3:

Let F be a vague filter of L. Then it is called a strong filter if for $x \in LV_F[\sim\sim(\sim x \to x)] = V_F(1)$.

Proposition 5.4:

Let F be a vague filter of L. Then the following assertions are equivalent for all $x, y \in L$,

1. V_F is a strong vague filter

2.
$$V_F[(\mathbf{y} \rightarrow \mathbf{x}) \rightarrow \mathbf{v}(\mathbf{y} \rightarrow \mathbf{x})] = V_F(1).$$

Proof:

Assume that F is a strong vague filter, that is, $V_F[\sim\sim(\sim x \rightarrow x)] = V_F(1)$.

Therefore $V_F[\sim\sim(\sim x \to x)] \leq V_F(\sim\sim[(y \to \sim x) \to (y \to x)]) \leq V_F(\sim\sim[(y \to \sim x) \to \sim (y \to x)]) = V_F[(y \to \sim x) \to \sim (y \to x)]$. Hence $V_F[(y \to \sim x) \to \sim (y \to x)] = V_F(1)$. Conversely, it follows immediately by taking $y = \sim x$ in (2).

Theorem 5.5:

Let F be a vague filter of L. Then the following assertions are equivalent for all $x, y \in L$.

- 1. V_F is a strong vague filter
- 2. $V_F[(x \rightarrow y) \rightarrow \sim \sim (\sim x \rightarrow y)] = V_F(1).$

Proof: It follows from Propostion 5.5

Theorem 5.6:

Let F be a vague filter of L. Then the following assertions are equivalent for all $x, y \in L$,

- 1. V_F is a strong vague filter
- 2. $V_F[(\sim x \rightarrow y) \rightarrow \sim \sim (\sim y \rightarrow x)] = V_F(1).$

Proof:

Assume that F is a strong vague filter, that is, $V_F[\sim\sim(\sim x \to x)] = V_F(1)$. $V_F[\sim\sim(\sim x \to x)] \le V_F[\sim\sim\{[(\sim x \to y) * \sim y] \to x\}] = V_F[\sim\sim(\sim x \to y) \to (\sim y \to x)] \le V_F[\sim\sim([\sim x \to y) \to \sim\sim(\sim y \to x)]] = V_F[(\sim x \to y) \to \sim\sim(\sim y \to x)] = V_F(1)$. Conversely, it follows immediately by taking $y = \sim\sim x$.

Definition 5.7:

Let F be a vague filter of L. Then it is called an n-contractive vague filter if for all $x \in L$, $V_F[x^n \rightarrow x^{n+1}] = V_F(1)$.

Theorem 5.8:

Let F be a vague filter of L. Then the following assertions are equivalent for all x, $y \in L$:

1. F is an n-contractive vague filter

2. $V_F[[x^n * (x^n \rightarrow y)] \rightarrow (x * y)] = V_F(1)$

3. $V_F[[x^n * (x^n \to y)] \to x^{n+1}] = V_F(1).$

Proof:

(1) ⇔(2)

Assume that F is an n-contractive vague filter. $V_F[x^n \to x^{n+1}] \leq V_F[[x^{n*} (x^n \to y)] \to [x^{n+1*} (x^n \to y)] \leq V_F[[x^n* (x^n \to y)] \to (x^*y)] \to (x^*y)] \to (x^*y)] \to (x^*y)] \to (x^*y)] \to (x^*y)$ and hence $V_F[[x^n* (x^n \to y)] \to (x^*y)] = V_F(1)$. Conversely, it follows immediately by taking $y = x^n$ that $V_F[x^n \to x^{n+1}] = V_F(1)$. Thus F is an n-contractive vague filter.

(1) \Leftrightarrow (3) Consider the inequality $V_F\{[x^n * (x^n \rightarrow y)] \rightarrow [x^{n+1} * (x^n \rightarrow y)]\} \le V_F\{[x^n + (x^n \rightarrow y)]\} \le V_F\{[x^n$

Theorem 5.9:

Let F be a vague filter of L. Then F is an n-contractive vague filter if and only if $V_F[x^n \rightarrow x^{2n}] = V_F(1)$.

Proof:

Assume that F is an n-contractive vague filter. It follows immediately that $V_F[x^n \to x^{n+1}] \leq V_F[x^{n+1} \to x^{n+2}]$, and hence $V_F[x^{n+1} \to x^{n+2}] = V_F(1)$. Similarly, we have $V_F[x^{n+2} \to x^{n+3}]$, $V_F[x^{2n-1} \to x^{2n}] = V_F(1)$. The transitivity of \to leads that $V_F[x^n \to x^{n+1}] * \dots V_F[x^{2n-1} \to x^{2n}] \leq V_F[x^n \to x^{2n}]$, and hence $V_F[x^n \to x^{2n}] = V_F(1)$. Conversely, since $V_F[x^{2n}] \leq V_F[x^{n+1}]$, it follows immediately from the isotonicity of the second variable of \to that $V_F[x^n \to x^{2n}] \leq V_F[x^n \to x^{n+1}]$, and hence $V_F[x^n \to x^{n+1}] = V_F(1)$.

Remark 5.10:

Let F be a vague filter of L. Then the following assertions are equivalent for all $x, y \in L$,

- 1. F is an n-contractive vague filter
- 2. $V_F[[x^n * (x^n \rightarrow y)] \rightarrow (x^n * y)] = V_F(1)$
- 3. $V_F[[x^n * (x^n \rightarrow y)] \rightarrow x^{2n}] = V_F(1).$

Theorem 5.11:

Let F be a divisible vague filter of L. Then $V_F[[(x * y) \land (x * z)] \rightarrow [x * (y \land z)]] = V_F(1)$, for all x, y, z \in L.

Proof:

Assume that F is a divisible vague filter. Then we get $V_F[[(x * y) \land (x * z)] \rightarrow \{(x * y) * [(x * y) \rightarrow (x * z)]\} = V_F(1)$. $(x * y) * [(x * y) \rightarrow (x * z)]\} = x * y * \{y \rightarrow [x \rightarrow (x * z)]\} \le x * \{y \land [x \rightarrow (x * z)]\}$. Therefore we have $V_F[[(x * y) \land (x * z)] \rightarrow \{(x * y) * [(x * y) \rightarrow (x * z)]\}] = V_F[[(x * y) \land (x * z)] \rightarrow \{x * \{y \land [x \rightarrow (x * z)]] = V_F(1)$. By applying the definition of divisible vague filter we get $V_F[\{y \land [x \rightarrow (x * z)]\} \rightarrow \{[x \rightarrow (x * z)] \rightarrow y\}] \le V_F[x * \{y \land [x \rightarrow (x * z)]\}] \rightarrow x^* \{[x \rightarrow (x * z)] * \{[x \rightarrow (x * z)] \rightarrow y\}\}] = V_F(1)$. Therefore by the transitivity of \rightarrow , we get $V_F[[(x * y) \land (x * z)] \rightarrow \{x * [x \rightarrow (x * z)] \rightarrow y\}\}] = V_F(1)$. Therefore $x * [x \rightarrow (x * z)] * \{[x \rightarrow (x * z)] + \{[x \rightarrow (x * z)] \rightarrow (x * (x * z)] \rightarrow (x * (x * z)) \rightarrow (x * (y \land z)) = V_F(1)$.

References:

- 1. M. Bakhshi, R.A. Boaraooei, Fuzzy regular congruence relation on Hyper K-algebras, Southeast Asian Bull.Math.33 (2009) 209-220.
- 2. M. Bakhshi, R.A.Boraooei, Lattice structure on fuzzy congruence relations of a hypergroupoid, Inform. Sci. 177 (2007) 3305-3313.
- 3. R. Biswas, Vague Groups, Int. J. Comput. Cognition 4 (2006) 20-23.
- 4. S.W.Chen, Y. Xu, Y. B. Jun, Intuitionistic fuzzy filters in Lattice Implication Algebra, The Journal of Fuzzy Mathematics 14 (2006) 385-392.
- 5. T. Eswarlal, Vague ideals and normal vague ideals in semirings, Int. J. Comput. Cognition 6 (2008) 60-65.
- 6. W.L. Gau and Buehrer D.J.Vague sets, IEEE Transactions on systems, Man and Cybernetics 23 (1993) 610-614.
- 7. S. Ghorbani, Intuitionistic fuzzy filters of residuated lattices, New Mathematics and Natural Computation 7 (2011) 499-513.
- 8. S. Ghorbani, Intuitionistic fuzzy congruence relations on residuated lattices, Acta Universities Apulensis 29 (2012) 301-314.
- 9. Y. B. Jun, W. H. Shim, Fuzzy strong implicative hyper BCK-ideals of of hyper BCK-algebras, Inform. Sci. 170 (2005) 351-361.
- 10. Y. B. Jun, Fuzzy positive implicative and fuzzy associative filters of lattice implication algebras, Fuzzy Sets, Syst. 121 (2001) 353-357.
- 11. Y. B. Jun, S.Z. Song, On fuzzy implicative filters of lattice implication algebras, J. Fuzzy Math. 10 (2002) 893-900.
- 12. Y. B. Jun, Y. Xu, J. Ma, Redefined fuzzy implication filters, Inform. Sci.177 (2007) 1422-1429.
- 13. H. Kham, M. Ahamd, R. Biswas, Vague relations, Int.J.Comput.Cognition 5(2007)31-35.
- 14. Y. Liu, J. Liu, Y. Xu, Fuzzy congruence theory of lattice implication algebras, J.Fuzzy Math. 20 (2012) 777-790.
- 15. Y. Liu, Y. Xu, X.Y. Qin, Interval-valued T-Fuzzy Filters and Interval-valued T-Fuzzy Congruences on Residuated Lattices, Journal of Intelligent and Fuzzy Systems DOI : 10.3233/ IFS-130879.
- 16. G. J. Wang , Non-classical Mathematical Logic and Approximating Reasoning, Science Press, Beijing, (2000).
- 17. M. Ward and R. P. Dilworth, Residuated lattices, Trans. Amer. Math. Soc., 36 (2) (1939), 406-437.
- 18. Z. Xue , Y. Xiao, T. Y. Xue and Y. Li, Intuitionistic fuzzy filter of BL-algebras, Computer Science, 39 (2012), 198-201.
- 19. L. A. Zadeh, Fuzzy set, Inform. Sci. 8 (1965) 338-353.
- 20. Y. Q. Zhu and Y. Xu, On filter theory of residuated lattices, Inform Sciences, 180 (2010) 3614-3632.